
MATHS

BOOKS - RD SHARMA MATHS

(HINGLISH)

CONSTRUCTIONS

All Questions

1. Draw an 
 of measure 
 such that 


 and 
 Through 

∠BAC 500

AB = 5 cm AC = 7 cm. C

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_L8GzW37L59sc


draw a line parallel to 
 and through 

draw a line parallel to AC, intersecting
 each

other at 
Measure 

Watch Video Solution

AB B

D. BD and CD.

2. Draw a line 
 . Draw another line
 parallel

to 
at a distance of 3 cm from it.

Watch Video Solution

 PQ

PQ

https://dl.doubtnut.com/l/_L8GzW37L59sc
https://dl.doubtnut.com/l/_pk8mEinuB69N


3. Draw two parallel lines at
 a distance 5 cm

apart.

Watch Video Solution

4. Construct a triangle 
 if the lengths of

its sides are given by


and 

Watch Video Solution

ABC

AB = 6 cm,  BC = 7 cm AC = 5 cm.

https://dl.doubtnut.com/l/_pw57jfzS3Sqo
https://dl.doubtnut.com/l/_JvU5mNSz685q


5. Draw 
 in which 

Also, draw the perpendicular bisector of 

Watch Video Solution

ABC

AB = 4. 5 cm,  BC = 5 cm and CA = 6 cm.

BC.

6. Draw 
 in which 
 . 


 and 
 Also, draw

perpendicular bisector of side 
.

Watch Video Solution

ABC AB = 5 cm

BC = 6 cm CA = 7 cm.

BC

https://dl.doubtnut.com/l/_kSAV4tb3gjxc
https://dl.doubtnut.com/l/_qaGK1SOnlvlS
https://dl.doubtnut.com/l/_VyraOquV8avc


7. Draw 
 in which 
 , 


 and 
 Also, draw the

bisector of 
.

Watch Video Solution

PQR PQ = 3 cm

QR = 4 cm RP = 5 cm.

∠Q

8. Draw an equilateral
 triangle one of whose

sides is of length 

Watch Video Solution

7 cm.

https://dl.doubtnut.com/l/_VyraOquV8avc
https://dl.doubtnut.com/l/_VWiNfETLd64K


9. Draw a triangle whose
 sides are of lengths


Draw the perpendicular

bisector of the
largest side.

Watch Video Solution

4 cm,  5 cm and 7 cm.

10. Draw a triangle 
 with 


 and 

Using ruler and compass alone, draw (i) the

bisector 
of 
 and (ii)
 perpendicular 

from 
on 
Measure 

ABC

AB = 6 cm,  BC = 7 cm CA = 8 cm.

AD  ∠A AL

A BC. LAD.

https://dl.doubtnut.com/l/_MN3tSe9ZDuQj
https://dl.doubtnut.com/l/_BvRUsvR16MAZ


Watch Video Solution

11. Draw 
 such that 

and 
Measure

Watch Video Solution

DEF DE = DF = 4 cm

EF = 6 cm. ∠E  and ∠F .

12. Draw any triangle 
 . Bisect side 
at 


 . Through 
 , draw a line parallel to 
 ,

meeting 
in 
. Measure 
and 
.

Watch Video Solution

ABC AB

D D BC

AC E AE EC

https://dl.doubtnut.com/l/_BvRUsvR16MAZ
https://dl.doubtnut.com/l/_lkplDgu1zjmI
https://dl.doubtnut.com/l/_Fc17Z8lHamSQ


13. Construct 
 in which 

Watch Video Solution

ABC

∠B = 600,  AB = 5cm and BC = 6cm.

14. Draw a triangle 
 with 


 and


 Also draw a perpendicular from 


on 
.

Watch Video Solution

ABC

BC = 3. 2 cm,   AB = 3. 6 cm

 ∠B = 1200.

A BC

https://dl.doubtnut.com/l/_N4sLenLOJgls
https://dl.doubtnut.com/l/_iiiDdFPMlVeu
https://dl.doubtnut.com/l/_zWNMMeL48bOI


15. Draw 
 in which 



and

Watch Video Solution

ABC AB = 3 cm,

BC = 5 cm ∠B = 700.

16. Draw 
 in which 



and 
Measure 

Watch Video Solution

ABC ∠A = 700,

AB = 4 cm AC = 6 cm. BC.

https://dl.doubtnut.com/l/_zWNMMeL48bOI
https://dl.doubtnut.com/l/_1iTVdMiXO5ht


17. Draw an isosceles triangle
 in which each of

the equal sides is of length 3 cm and the angle

between them
is

Watch Video Solution

450.

18. Draw 
 in which 


 Measure 

Watch Video Solution

ABC

∠A = 1200,  AB = AC = 3cm.

∠B and ∠C.

https://dl.doubtnut.com/l/_tzmqg6PY0JRX
https://dl.doubtnut.com/l/_x5ghA7d6xmfC
https://dl.doubtnut.com/l/_m23qOJt251Kl


19. Draw 
 in which 
 and 

Watch Video Solution

ABC ∠C = 900

AC = BC = 4 cm.

20. Draw a triangle 
 in which 


 and 

Also, draw a perpendicular from 
on 

Watch Video Solution

ABC

BC = 4 cm,  AB = 3 cm ∠B = 450.

A BC.

https://dl.doubtnut.com/l/_m23qOJt251Kl
https://dl.doubtnut.com/l/_ZHxo1NUWmyvx


21. Draw a triangle 
 with 



 and 
 Also, draw the

bisector of angles 
 and 
 of the triangle,

meeting in a point 
. Measure

Watch Video Solution

ABC AB = 3 cm,

BC = 4 cm ∠B = 600.

C A

O ∠COA.

22. draw 
 in which 

Measure 

Watch Video Solution

ABC

BC = 6 cm, ∠B = 350 and ∠C = 1000.

∠A.

https://dl.doubtnut.com/l/_sknICfCMnD9n
https://dl.doubtnut.com/l/_JMiLlmGeUjNO


23. Draw a triangle 
 in which 

Watch Video Solution

ABC

BC = 5. 2 cm,  ∠B = 600 and ∠A = 1000.

24. Construct 
 in which 


and 

Watch Video Solution

ABC

BC = 4 cm,  ∠B = 500 ∠C = 700.

https://dl.doubtnut.com/l/_JMiLlmGeUjNO
https://dl.doubtnut.com/l/_TJkbGQbRJbj8
https://dl.doubtnut.com/l/_MAluC9ZJJCP0


25. Draw 
 in which 


and

Watch Video Solution

ABC

BC = 8 cm,  ∠B = 500  ∠A = 500.

26. Draw 
 in which 

and 
 Draw the perpendicular

bisector of side 

Watch Video Solution

PQR ∠Q = 800, ∠R = 550

 QR = 4. 5 cm.

QR.

https://dl.doubtnut.com/l/_SMLpwSyx7RwU
https://dl.doubtnut.com/l/_KDK0OOsXcRTL


27. Construct 
 in which 

Watch Video Solution

ABC

AB = 6. 4 cm,  ∠A = 450 and ∠B = 600.

28. Draw 
 in which 

Watch Video Solution

ABC

AC = 6 cm,  ∠A = 900 and ∠B = 600.

https://dl.doubtnut.com/l/_ATjI7cozT1BY
https://dl.doubtnut.com/l/_F7o90hedGvZx


29. Draw triangle 
with 
a right angle, 


and

Watch Video Solution

ABC ∠C

AB = 6. 2 cm  BC = 4. 5 cm.

30. Draw a right triangle
having hypotenuse of

length 
 and one of the acute angles

of measure 

Watch Video Solution

5. 4 cm,

600.

https://dl.doubtnut.com/l/_KYtuJ0f7H9xr
https://dl.doubtnut.com/l/_IK9sNFjvtjWQ


31. Draw a right triangle with
 hypotenuse of

length 
and one side of length 

Watch Video Solution

5 cm 4 cm.

32. Draw a right triangle
whose hypotenuse is

of length 
 and one side is of length

Watch Video Solution

4 cm

2. 5 cm.

https://dl.doubtnut.com/l/_Z88fAIqMaVmE
https://dl.doubtnut.com/l/_aBxyTu4sNlYj


33. Draw a right triangle
having hypotenuse of

length 
 and one of the acute angles

of measure

Watch Video Solution

5. 4 cm,

300.

34. Construct a right triangle
 
 in which 


 
 and

Watch Video Solution

ABC

AB = 5. 8 cm, BC = 4. 5 cm

 ∠C = 900.

https://dl.doubtnut.com/l/_81NiEy4Z8WRm
https://dl.doubtnut.com/l/_7rDoONCEBcFV
https://dl.doubtnut.com/l/_dI167Y7BHv3p


35. Construct a right
 triangle, right angled at


 in which 
 and 

Watch Video Solution

C AB = 5. 2\ cm

BC = 4. 6 cm.

https://dl.doubtnut.com/l/_dI167Y7BHv3p

